P_TI (1+1+1) H/ 21 (%)
2021
CHEMISTRY (Honours)
Paper Code:XII - A& B
(Analytical & Industrial)
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

* Write Subject Name and Code. Registration numbst, Session and Roil
number in the space provided on the Answer Script.

Example : Such as for Paper -A MMCQ) and II-B (Descriptive).
Subject Code : |II|A|&|B

Subject Name ;

* Candidates are required to attempt all questtons (MCQ). Below each
guestion, four altsmmatives are given [Le. (A), (B, (C), (D], Only one
of these alternatives s 'CORRECT answer. The candidate has to write
the Correct Alternative [we. (A)BYICHID)] agamst each CQuestion No,
in-the Answer Saipt

Example — If altsrnative A of 1 i= correct, then write
. — A

* There 15 no negative marking for wrong ansiver.
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Full Marks: 15

[

]

L

Paper Code : XII - A

Choose the corract answer

Eachquestion cames § mark

- Dunngz manufactanne of glasses 350, 15 added to remove —

(A) Trices of Fe-Compounds and Carbien

(B) Traces of Cx-Compounds and Carbon

(C) Traces of Ca-Compounds and Fe-Compounis.
(D) Wone of these

Time : Thirty Minutes

The preater the dismbution atio m favour of the organic: sobvent. the

will be the amount extracted 10 any one operahon
(A) greater
(B) lessax
(C) egual
(D) none of thess
ROMsstands for
(A) Read Only Method
(B) Reéad On Memory
(€) Read Only Memory
(D) Remsmber Only Memry
CdG impatts which colous to glass?
(A) Red
(B) Ruby zold
(€) Deep blus
(B) Amber



iy

- Whach of the following fimctional group 15 present in strong bass amon
exchanger?

(A) sulphome acid
(B) carboxyhe amd
(€) quatemsry amine
(D) none of the above
_ Compositon of Mortar 13 —
(A) Portland Cement + Water
(B) Partland Cemant — Water = Sand
(€) Portland Cement — Water — Sand — Gravel
(D) Water = Sand + Gravel
_ Terviens 15 2 condensatton polymer of ethylene giveol and —
(A} Benzoic acid
(B) Terephthshc acud
(€) Sahcyhic acid
(D) Phthalic acid
_ Dunno detemurisnen of Calonfic value of anv fiusl —
(A) Heat 18 absorbed by water a1 atmospheric tempersture and pressure
(B) Heat 15 absorbed by methanol at atmosphenc temperanwe and pressure
(C) Heat is absorbed by water at any temperatitre and pressurs
(D) Heat 15 absorbed by methanol at any temperature and pressure
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The sguare of the standard devianion 1s known as —
(A) co-=ffictent of vanance
(B) absolute daviation
(C} Varsmoe
(D) relatrve standaed deviaton
After conversion “894,.” to hesacods we shal obtain —
(A) 428
(B) 37E
(C) 26E
D) 12¢

Imipiarities 1 reagents are —
(A) Systemahc Enors
(B) Random Enors
(C) Absalute Errofs
(D) Relative s

Which one amone the followine s usually used a5 2 precipitant to precipitate

Fe&* lons in gravimetric analysis?
(4) dimethyt shoxims
(B) cupferron:
(C) sodium tetraphenyiborate
(D) 1-mtyoso-2-maphthol
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13. Winch of the followmng matenials 1= employed a2 2 reducing agent w metallurgy”
(A) Hydrozen and Palladmm
(B} Charcoal
(C) Lithmm alwmmaam hydnde
(D) Sodmwm borohydnde
14. Dunng the punfication process by hgmd-hquid extraction choice of solvent
depends on the role of —
(A) Dielectne Constant
(B) Partiem Coefficient
(€) Both (A) and (B)
(D) Nong of them
15. €. C— and JAVA are the example of —
(A) Internal parts of a computer
(B) Secondary memory device
(C) Commercial computer brands
(D) Programming Language
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P (1+1+1) H/21 (N)
2021
CHEMISTRY (Honours)
Paper Code: XII - B
(Analytical & Industrial)
[New Syllabus]

Full Marks : 50 Tame : Two Hours Thurty Minutes

[

s

The figures i the margin faicate full mark

Answer any five questions_takine at least o queshens from each sroup.

(2}

(b)

(c)
(&)
(b)

()

()
()

Group-A
With the help of ‘gassian dismbunon curve sxplain the following facts
{t) Systemane Errct, (n) Randem Eror, (1) Total Anabytieal Frver () High
precession does not aiwayvs sunily hish acouracy
Convert the binary “110117" 1o hexadecimal Show the caleulation in detal
What 15 difference betiveen vanance and standard deviation? What 15 the
advantage of vanance ever standerd deviation?
Fmd the binary equevalent of (214.75),, 512210
Elucidate the pnnciple of zas-liqwd chromatography
What do vou mean by ‘secratic ehmon techmque” and “sradient elution
techmque’ m column chromatography?

Mention an advantacs and 3 disadvantape of TLC over paper
chromatography

Explain the teoms ‘plate heicht” m column chromatosraphy. 3+2-3-2=10
Calrulate the result of the followme expression -
(137603 +(203.3=0.1) = (1177 01|

|97.8£0.05}=(37.320.1)
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What are the most common methods for obtzining good precipitation
during anatytical expenments? Describe categonieally

Dhscuss the qualdiss of 2 zood washmz liquid m sravimemne analysis.
What do you mear by ‘confidence: interal’? 34343+1=10
Suppese X and ¥ are two numbers assomated with o, and ©. standard

deviations respectrvely. Calculate the standard deviabon of the resultant 1

the followingtwo operations - T'=X=F and =%

Bazed on the value of supersaturation dunme precipitation honw the rate

of nucleation changes” Pomt out different cases

What 1s Weimarn's. equatson abott the velocity of the preciprtation? Explam

its mmplications.

What do vou mean by ‘separahion factor (B)' m solvent extraction?
3=232=10

Group-B

Through 2 simple flow chart diagram show the important steps mvolved

dunng carbomzation process of coal What are the basic differences

between coke and coal?

Between “Flash Point™ and “Tonition Temperature™ which 1s nsher and
why?

Duirnz glass manufactinng “Annealmo™ and “Tampenne™ are two mpostant
processas at two different stages”  Justify this statemsent in 3 very sumple
Way. 2=725=10

Wiite dovn the advantages of catalyiic crackme.

What are causes: of kaocking i diesel ensne and petrol enmne? For Diesel
encme diesel oil with low cetans munber s preferrad whole for petrol 2none
pemral with lngh octane number 15 preferred. Explam.

What 15 “wiute cement’ and “coloured cement™?
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Discuss the fimchon of oypsum m Portland cement

Whar do you mean by calonfic valoe of 2 ful? 243-242:1=10
Wnte down the struciure of Viscose Ravan Explain the mamufactuning
process of Viscose Ravan throngh 2 simple flow chart diagram and explam
the principle of the sieps.

Why Nylan 6.6 has highly stramed structure?

What 15 foam rubber and how 113 mannfacmred? Whar are ns commereial
= I—=-2-2+1=10
Calculate the gross-and net calonfic value of a coal sample having the
C =82 H,=8% 0,=36;5§=25% N,=14%and ash=21%
Explatn the zctnon of urea as a fembizer

Differentiate between paint and vamishes

Prove that single extracnion with 10 ml of agueocus phase and 20 mL of

organic phase 15 not sfcent 2 compared to twice extraciion with 10 mL
of aquecms phase and 20 ml. of organic phase, 3+2+3+3=10
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